Honeywell| S zh#% il 1

PRAR SIS 31 &

VA

1TREIMITER

2 JE 4 /RPRA R FN A AAT REARAT 232 XU FH AT 5 1A HF XU
RUATRERE ML, T2 i i s XU R AL O A AT R I T

HAESH
AT R 0°C~60C
i A7 PR 5 -25°C~60°C
BAET 0.14~0.7MPa (140-700kPa)
SENLBRIPEESR G | 1P66
SENLBRANERM R GRTARD | JEEE4
RN BB Eﬁ; 22 4f§(r)nmAA (A
TERA L 24VDC
AL R !
Y YT RrS

PRA —_— [ XXX

[ PRA=SENAITIZINITER }—

EHlAR:
T=7F K&
MN=IETS B, TERiR

MF=RH R, BRIE
SN=EES$ERETE, tkix

‘ XXX=$H%E 1K%Y | AR S BLUER'D -
q SF=ETfESHEIETE, BRI )
PAT SRR AR
SEARFRSIEES (Bar) BRI HFASE (Nm)

RS OS# 2 3 4 4.5 5 5.5 6 7
PRA-003XX 15 22 29 33 36 40 44 51
PRA-004XX 20 30 40 45 50 55 60 70
PRA-009XX 45 68 0 102 113 124 135 158
PRA-020XX 100 150 200 226 251 276 301 351
PRA-030XX 171 256 342 385 427 470 513 598
PRA-050XX 266 399 532 598 665 731 798 931
PRA-080XX 426 638 851 958 1064 1170 1277 1490
PRA-100XX 532 798 1064 1197 1330 1463 1596 1862
PRA-150XX 769 1154 1539 1731 1924 2116 2308 2693
PRA-230XX 1305 1958 2351 2937 3263 3589 3916 4569
PRA-320XX 1602 2403 3205 3605 4006 4406 4807 5608
PRA-480XX 2399 3598 4798 5398 5998 6597 7197 8397

EES-FDA-PV-AUGUST-2017-V06-CN



PRAZR SIS AATREIAT 45

PAT BB HT5
Py BNE SR | RS SR Fo Bl % FENE 5 E IR
EVIVEESS . HURE IR LI, AT SRR A2
e : . RARIBALITS o
T-JFK TFRES TR FLT IR AN PR 57 2% O RO0FE (i
MN-PPRERIE | 4-20mA x BN & TR B TAS SN, BT 2
MF- 35 A S 45 4-20mA 420mA |45 bR i e P 0B B0 A
SN-1J 15 R4 e S 15 4-20mA " Wi {5 SHUE T RBIERLAS | s py B0 £ B A, BT 58
SF-1i 15 B4 S f5t 4-20mA 4-20mA Wi B g R R e oy | IRFFAZL,

TIIRLL

LIRS R ST R AZAMET0. 6MPa, ASiET-1. OMPa. I8 IR AR RSN /4357, BENEE NN,

WALE: ULEORRFKCT,

PRI AL T EORAS, T HEK. R

3 AR R TS MATIERATAY . HOE LSRR

4-20mA (3 BRI

el

IIII':}I' I
I
|

MINES: 4-20mA; RIS S:
Lo 20 mhA+ -
INPUT -0
-
9~28V 0OC U
- +
iHi
QUTPUT
4~20mA DC
Mox 60052
(Wire Resistance)
— |
Load GI:

|

WAL, AR RO 5 T A R IR AU S
IN+: SNBSS IEWRRTF
IN-:  HAESSHART
FG: EHuURT

OUT+: RIR{E T IERN T

OUT -1 RBfE 5tk T

LR AN T AT AR

4y WRSERUONIF RN MATIERIT &%, HARETIEIR o JFRM Sl R A PIANE I F R R AR T %

CERvAE

PR, R RIR, HIEN24VDC, BIFE(E S

BRAZIFR: TFRARRIRALIE A, WSRARLR, W LR EIT A0 RS 5 .

#HH (NC) O-

15T (4af)

25 ¥ (Bf)

At (C) O
HIF (NO) O

35T (&fh)

4557 (FE)

HH (NC) O

55T (Hf)

A3tEs (OO
HIF (NO) O

654 (B

FRALTTIR

QEL i
Ol 2] R .l
O 3 = =2
QH: i A:nu?m ot
OER | T
==—0 6 .
el SR
or—-O*] 8




PRAZR SIS AATREIAT 45

SRESMERSTFIEE
LI K T
el
00
\
.
DIN/ISO 5211 OF G
DIN 3337 \ I

B

KE: mm HE: kg

2 OS# A B c D E oF G H L HE

PRA-003XX | 83 88 20 ®50 | 70 | 14 [4-M6x10 | 4-M8x13 172 2.15

PRA-004XX | 955 | 100 20 ®50 | 70 | 14 [4-M6x10 | 4-M8x13 188 2.60

PRA-009XX | 108.5 | 117 20 ®50 | 70 | 17 [4-M6x10 | 4-M8x13 268 4.55

PRA-020XX | 143 |156.5 | 30 ®70 | ®102 | 22 |[4-M8x13 | 4-M10x16 322 9.20

PRA-030XX | 183 [173.5| 30 | @102 | ®125 | 27 [4-M10x16| 4-M12x20 406 12.00

PRA-050XX | 175 1985 | 30 | ®102 | ®125| 27 [4-M10x16| 4-M12x20 475 20.25

PRA-080XX | 207 | 231 30 / ®140 | 36 / 4-M16x25 544 31.35
PRA-100XX | 227 | 256 30 / ®140 | 36 / 4-M16x25 562 45.70
PRA-150XX | 261 292 30 / ®165 | 46 / 4-M20x25 642 54.50
PRA-230XX | 295 | 331 30 / ®165 | 46 / 4-M20x25 740 79.00
PRA-320XX | 335 | 352 30 / ®165 | 46 / 4-M20x26 774 99.00

PRA-480XX | 385 | 408 30 | ®165 | ®254 | 46 [4-M20x26| 8-M16x25 912 156.0

©2017 BERF/RBAUTH, HREFEBF . 2RRNHERE, BARATEL.
3




